How To Read Cross Tabulations

Example table, and how to interpret it



	
	Total
	Gender
	Age

	
	
	Men
	Women
	18 - 39
	40-54
	60+

	Respondents
	500
	260
	240
	150
	200
	150

	
	
	
	
	
	
	

	Q1  Did you murder your wife?
	
	
	
	
	

	
	
	
	
	
	
	

	Yes 
	100
	100
	0
	20
	40
	40

	
	20%
	38%
	0%
	13%
	20%
	27%

	
	100%
	100%
	0%
	30%
	40%
	30%

	
	
	
	
	
	
	

	No
	400
	160
	240
	130
	160
	110

	
	80%
	62%
	100%
	80%
	80%
	73%

	
	100%
	40%
	60%
	32%
	40%
	28%

	
	
	
	
	
	
	



This is the base – the number of people in each of the age groups who were asked the question





This is the total number of people who were asked the question – often it’s the same number of people in the survey





These are horizontal percents.  They are used less often, and represent, in this case, the proportion of the people who said no, who were aged 40-54.  Horizontal percents are easily distinguished from vertical percents, because there is 100% in the total column.





These are vertical percents, the most common statistic used.


In this case it is the percent of men that said Yes








